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Bt 14 2

2019 HHrHEIRSE A L - R

2E(F BAKE | FEE
JF 5 Pk & 2 dQOL D LRI &
TE) () | (B
10%< 7 B <15%, 4 2 it
Folmas=l—R4.
BEREHLNERZ N~
1 (B2 g R 132.6 750 -90 —60 600
R, RAHMEZ L —R
Y, RANER KB A
GRERLEH
REGIREHRH Z =R
2 RELE R 30.6 750 0 —60 690
e Bk
3 |HZWE =R 90.0 750 60 —60 750 [25%< T B <30%
4 VB2l R 79.5 750 -80 —60 610  [15%< T3 B <20%
5 |MZWLERREY 40.5 750 -110 —60 580  |0%< T4 & <5%
6 |HZWE ARG 48.0 750 -90 —60 600  [10%<T7 7 B <15%
NSRS B N-R 49.5 750 0 —60 690
8 |FEF—NEY 99.0 750 0 —60 690
9 WEREE Ay 102.0 750 60 —60 750 |25%< T B <30%
IREE S5 99.0 750 0 —60 690
11 |x#EE= N 198.5 750 -80 —60 610  [15%<T 37 B <20%
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12 W x%E%0HA Ay 49.5 750 -80 —60 610 |15%<T 7 & <20%
13 [K MWL — A w7 94.5 750 0 —60 690
14 | KL% = A 49.5 750 0 —60 690
15 [KMW &= Ak 49.5 750 -80 —60 610  |15%< 7 & <20%
16 | ML % 1 A e 37 99.5 750 -80 30 700 |15%< 7 & <20%
17 |E#%— Kby 99.0 750 0 —60 690
18 [E#% Ky 99.0 750 -100 —60 590 |pu<TipEE<10%
19 [E#% =Ry 99.0 750 -80 —60 610  |15%< 7 & <20%
20 |E k% 1M Iy 49.5 750 0 —60 690
21 |B#% E MR 49.5 750 0 30 780
22 |BH#E ARG 49.5 750 60 —60 750 |25%< T B <30%
23 B E LAY 99.5 750 70 30 850  [30%=< T & <35%
24 | KB % — R 98.0 750 -90 —60 600  |10%< 7 & <15%
25 |FELE—NE 174.0 750 70 30 850  [30%=< T & <35%
26 |FH L= Rdy 148.5 750 0 —60 690
27 |4 E WL E = Ry 99.0 750 0 —60 690
28 |48l R 172.5 750 60 30 840  |25%< T 7w B <30%
29 [4FHLEERA R 149.0 750 70 —60 760 [30%< i B <35%
30 |F W% — M 297.0 750 -80 —60 610  [15%<Tidp B E<20%
31 |F W% = A3 49.5 750 -90 30 690  [10%<TidpH E<15%




32 [FLE=ZAeg 49.5 750 -90 30 690  |10%<T & <15%
33 |F Wl A 3 149.5 750 0 —60 690

34 |F L EN G 99.0 750 85 —60 775 |35%< 737 B <40%
35 |\l &S A3 200.0 750 0 —60 690

36 [HE L E— A 99.0 750 70 —60 760 |30%< T 37 B <35%
37 REWLE R 69.5 750 85 —60 775 |35%<T B <40%
38 |HR#E L% = R 148.2 750 100 30 880  |40%< 7 & <45%
39 [RE L& YR 247.0 750 100 30 880  |40%< i & <45%
40 |BR# L% H R 99.0 750 85 —60 775 |35%< 737 B <40%
ARES SITE SINE 99.0 750 70 —60 760 |30%< T 37 B <35%
42 |R#E % LR 49.5 750 -80 —60 610  |15%< 7 & <20%
43 |FRE LS AR 99.4 750 100 30 880  |40%< 7 & <45%
44 |F %L & — R 99.0 750 60 —60 750 |25%< T B <30%
45 |HBHE — Rk 99.0 750 -90 —60 600  |10%<T 37 & <15%
46 |HEHE KL 198.5 750 -80 30 700 |15%< T3 HE <20%
47 |HEHE Z Ny 98.7 750 -80 —60 610  |15%< T3 & <20%
48 |T BB E WKL 100.0 750 0 —60 690

49 h#%—Aa 99.0 750 -90 —60 600  |10%<T 3 & <15%
50 |LEE Ry 99.0 750 0 —60 690

51 LB % = Ry 198.0 750 0 —60 690




52 | MR 3 99.0 750 0 —60 690
53 |WEE LM A 298.0 750 0 —60 690
54 |EME — M E 297.5 750 0 —60 690
55 |EME X 149.5 750 0 -60 690
56 A = Kk 100.0 750 -80 30 700 |15%< 7 & <20%
57 |7 KT E— X3 9.0 750 0 -60 690
58 WA & = Ry 96.0 750 0 —60 690
59 [ZR M — R 198.2 750 100 30 880  |40%< i & <45%
60 |#h M = M g 49.5 750 -90 —60 600  |10%< 7 & <15%
61 |EJRE % — M 97.5 750 -80 30 700 |15%< 7 & <20%
62 | % = M 100.0 750 -80 —60 610  |15%< 7 & <20%
63 |fEHEE — M I 49.5 750 -90 —60 600  |10%< 7 & <15%
64 |FFEE— AN 150.0 750 85 30 865  |35%< T B <40%
65 |7 &FH M 150.0 750 85 30 865 [35%= T & <40%
66 |7 F % =M 150.0 750 85 30 865  [35%= T 7 M & <40%
67 |3 &% WA 150.0 750 60 30 840  |25%< T 7w B <30%
68 |% R wF — A Hg 200.0 750 0 —60 690
69 |¥ R wE =R dg 150.0 750 0 —60 690
70 |TR%E— M 99.5 750 60 —60 750 |25%< i B <30%
71 |9l — A 3 100.0 750 0 30 780
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72 |E &% — M A 99.0 750 70 —60 760 [30%< i B <35%
73 |BB % = M 3 198.0 750 -80 —60 610  [15%<TidpH E<20%
74 |EFE % = M m I 99.0 750 -90 —60 600  [10%<7i3% & <15%
75 |E8 & R 3 99.0 750 60 —60 750 [25% <73 & <30%
76 |E R B M A 99.0 750 70 —60 760 [30%<iip B <35%
LS TV Nk 49.5 750 0 -60 690

78 kAR — M 49.5 750 -80 30 700 [15%<7 3 & <20%
79 |HRE— M 200.0 750 100 30 880  |40%<Tip B <45%
80 |Ef%/\M g 49.5 750 -80 —60 610  [15%<7i 37 & <20%
8l |EW%— Mg 100.0 750 0 —60 690

82 | % = M 300.0 750 60 30 840  |25%< T 47w & <30%
83 |REH =My 99.5 750 70 30 850  [30%=< T & <35%
84 |R)II & — kb 0.3 620 -110 0 510  |0%<T 7 & <5%

85 4B % — Ktk w3k 30.0 620 60 0 680  [25%< T 7 & <30%
86 |4 & = Ktk w3k 30.0 620 60 0 680  [25%< T 37w & <30%
87 |#R)I % G A AR v 3 640.0 620 60 0 680  [25%< T 37w B <30%
88 [N % HAAR 3k 10.0 620 -100 0 520  |pr<TidpHE<10%
89 4RI & < Ak w3k 30.0 620 0 0 620

90 |4 % bk w ok 30.0 620 70 —60 630 [30%<Tid B <35%
91 R % N\ AR H 3 30.0 620 -90 0 530 [10%<TidpH E<15%
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92 |REE— bk 10.0 620 70 —60 630 |30%< T 37 & <35%
93 | HE bk 30.0 620 0 —60 560

94 | R R = Hthwk 30.0 620 0 —60 560

95 |R R 3k 30.0 620 -80 0 540 |15%< 37 E<20%
96 |R B H AR B3k 10.0 620 -80 0 540  |15%< 37 E<20%
97 |REENHKREIE 39.0 620 -80 0 540 |15%< 37 E<20%
98 | R E& LR 30.0 620 60 0 680  |25%< T 37 B <30%
99 | R HE )\ btk w3k 50.0 620 0 —60 560

100 |2 =% JUbtk ok 10.0 620 85 —60 645  |35%< T 7 B <40%
101 |2 =&+ btk ok 10.0 620 60 0 680  [25%< T I L B <30%
102 |2 s+ — K th sk 10.0 620 60 0 680  [25%< T L B <30%
103 |2 =&+ = th sk 20.0 620 0 0 620

104 |2 m&+= etk 20.0 620 60 0 680  [25%< T B <30%
105 |2 %+ 10k th e 3k 20.0 620 85 —60 645  |35%< T i B <40%
106 |2 &%+ E A RE sk 20.0 620 0 0 620

107 |B &+ o<tk sk 30.0 620 0 0 620

108 | & &%+ th sk 30.0 620 85 —60 645  |35%< T 7w B <40%
109 | & &%+ /\ bk sk 30.0 620 60 0 680  |25%< T & <30%
110 [ &% T btk sk 40.0 620 -80 0 540  |15%<Tii7 & <20%
111 (R E% btk sk 30.0 620 60 0 680  |25%< i & <30%
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112 | &% -+ —tthwsb 10.0 620 0 0 620

113 | &% -+ = tthwsb 30.0 620 0 0 620

114 (R R & —+ = bk m sk 20.0 620 0 0 620

115 | R B & =4 W AR e sk 30.0 620 —80 0 540  (15%<T 37 & <20%
116 R B H -+ bRk 40.0 620 0 0 620

117 [REE AR 20.0 620 0 0 620

118 | R 2 & =+ L ok d sk 200.0 620 70 0 690  [30%< T3 & <35%
119 (R EE Z+ )\ bR E sk 50.0 620 —80 0 540  (15%<T 37 B & <20%
120 | R BE Z AR d sk 10.0 620 70 0 690  [30%< T3 & <35%
121 [REE =+ bk sk 200.0 620 0 0 620

122 | R BE =+ — KR d sk 30.0 620 70 0 690  [30%< T3 & <35%
123 |REE =+ = KR d sk 50.0 620 —80 0 540  (15%<T 37 & <20%
124 | R BE =4 = R i sk 50.0 620 —90 0 530 (10%<T 37 HE E<15%
125 | R BE =+ W A AR i 3k 95.0 620 —80 0 540  (15%<T 37 & <20%
126 |REE =T H AR w3 20.0 620 -110 0 510 |0%< T 37 B & <5%
127 |REE =+ xRk w sk 100.0 620 -110 0 510  |0%< T 7 B & <5%
128 | R &% =+t mss 50.0 620 -110 0 510 |0%< T 7 B & <5%
129 | R B% =+ /\ ek w sk 50.0 620 —100 0 520 |0%< T 37 B & <5%
130 |7 ARE — itk w3k 30.0 620 0 —60 560

131 |7 ARE Zttkw sk 10.0 620 60 —60 620  |25%< T ¥ #. & <30%
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132 |7 HRE = btk w b 19.0 620 70 0 690  [30%< Tz & <35%
133 |7 R % WobAk 3k 40.0 620 —80 0 540 [15%<Ti i B 8 <20%
134 | PR S B AR 13.0 620 —-110 —60 450 (0T E<H%
135 | TR E N\ th w3k 30.0 620 70 0 690  [30%< T3 & <35%
136 | TR S AR w3k 100.0 620 0 —60 560

137 | T RE T ke sk 20.0 620 60 0 680  [25%< T & <30%
138 | TP ARE +— bRk 20.0 620 —80 0 540  (15%<T 37 & <20%
139 [ FHRE+ = btk sk 50.0 620 0 —60 560

140 |7 A&+ bR sk 100.0 620 60 0 680  [25%< T & <30%
141 | P RS T H AR 380.0 620 0 0 620

142 | T RE TN bR w sk 300.0 620 —90 0 530 |10%<T 37 E<15%
143 | P RS+ L bR sk 40.0 620 60 0 680  [25%< T & <30%
144 | T RS+ /)\ AR H 3k 20.0 620 60 0 680  [25%< T & <30%
145 | PR E TR w3k 179.8 620 —-110 0 510 |0%< T3 & <5%
146 |7 ARE o0tk sk 228.0 620 —-110 0 510 |0%< T 37 B & <5%
147 |7 R % —+—RE b 300.0 620 —-110 0 510  |0%< T 7 B & <5%
148 |7 A% —+ = hRE b 150.0 620 —-110 0 510 |0%< T 7 B & <5%
149 & "L & — otk 3k 10.0 620 0 —60 560

150 | %% L& = ik 3k 20.0 620 60 0 680  [25%<Ti 7w E<30%
151 |& %l % = otk v sh 30.0 620 70 —60 630  [30%<Ti iz & <35%
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152 | %8 L % W ot Ak v 3k 30.0 620 —80 —60 480  |15%<TiipH & <20%
153 |7 % L % otk v sh 10.0 620 85 —60 645  [35%< T & <40%
154 7%\l & 7S bk v 3k 80.0 620 —80 0 540  (15%<T 37 B & <20%
155 |7 %\l & otk v 3k 10.0 620 0 0 620

156 B %00 %\ AR sk 20.0 620 0 —60 560

157 |55 L & AUk 3k 100.0 620 60 0 680  [25%< T & <30%
158 | % L &+ etk sk 20.0 620 0 0 620

159 | % L%+ — bk b sk 30.0 620 —80 0 540  (15%<T 37 B & <20%
160 | &% \L %+ Z KR w sk 10.0 620 —80 —60 480  |15%<Th B & <20%
161 B0 %+ = bk sk 20.0 620 0 —60 560

162 B %0 %+ Wbk sk 10.0 620 0 0 620

163 [ %0 %+ I bR sk 10.0 620 —80 0 540  (15%<T 37 & <20%
164 | B\l &+ xR w b 30.0 620 0 0 620

165 |7 %\l %+ -tk Bk 100.0 620 0 0 620

166 | %% WL &+ /\ otk v sb 10.0 620 —80 0 540 [15%<Ti ¥ B 8 <20%
167 | % L &+ Utk v sh 30.0 620 0 0 620

168 | T & — itk i3k 50.0 620 85 —60 645  [35%< T 7 & <40%
169 |# T & Z ttk w3k 10.0 620 -110 —60 450 (0% <7 E<5%
170 | L& = bk 3h 30.0 620 70 0 690  [30%< Tz & <35%
171 | T2 oA w3k 3.0 620 0 0 620 BB R AR E AR
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172 |% T8 5 AR b3k 30.0 620 85 —60 645 [35%= T 7 B & <40%
173 |4 L& 7tk 3k 20.0 620 85 —60 645  [35%= T 7 B & <40%
174 % T4+ K th v sk 20.0 620 85 0 705 [35%< T B <40%
175 | L& )\ OBtk w3k 30.0 620 70 0 690  [30%< T & <35%
176 | T4 bk w3k 30.0 620 70 0 690  [30%< T B <35%
177 |# T &+ th sk 30.0 620 -80 —60 480 |15%< T B <20%
178 |# T %+ — etk b ok 30.0 620 60 0 680  [25%< T B <30%
179 |[H T %+ = thwsk 20.0 620 -80 0 540 [15%< T ¥ B B <20%
180 | T %+ = Hth sk 20.0 620 0 0 620

181 | T %+ 19 S th v sk 30.0 620 60 0 680  [25%< T B <30%
182 | T %+ F Hth sk 20.0 620 0 0 620

183 |# T4+ < etk ok 60.0 620 60 0 680  [25%< T B <30%
184 |# T4+t etk ok 20.0 620 0 0 620

185 | %+ /\ etk i sk 20.0 620 -80 0 540 [15%< T ¥ B B <20%
186 |# L& + Ltk v 3k 20.0 620 0 0 620

187 | L& —+ otk B3k 30.0 620 60 0 680  [25%< T 37w B <30%
188 |# L& —+—htkwst | 100.0 620 70 0 690  [30%< T B <35%
189 | L& —+ = btk w3k 10.0 620 70 —60 630  [30%<Tidp B <35%
190 [F L% =+ = Ktk bk 50.0 620 70 0 690  [30%< Ty B <35%
191 |# E# =+ mkkess | 100.0 620 0 0 620
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192 |+ L% —+ a1 ttkw b 10.0 620 —100 —60 460  |p%<Ti i & <10%
193 |# L& =+ ottkwsh 30.0 620 0 0 620

194 | % —+ bR ek 30.0 620 70 0 690  |30%< T3 & <35%
195 | L& =+ )\ AR i 3k 50.0 620 60 0 680  [25%< T & <30%
196 |¥ L& =+ JL AR 3k 20.0 620 60 0 680  [25%< T & <30%
197 [# P& =+ btk sk 130.0 620 —90 0 530 |10%<T 7 HE E<15%
198 |F P& =+ — Ktk ik 30.0 620 70 0 690  [30%< T3 & <35%
199 | L% =+ Z kb 0.0 620 0 0 620

200 |+ L& =+ = btk m sk 30.0 620 0 0 620

201 |+ L& =+ Wbk m ok 30.0 620 —80 0 540 (15%<T 47 B & <20%
202 |# L& =+ bR m sk 30.0 620 —80 0 540 (15%<T 47 B & <20%
203 | T & =+ 5 ok i sk 30.0 620 —80 0 540  (15%<T 37 & <20%
204 | I =+ btk ok 30.0 620 70 —60 630  |30%< T3 & <35%
205 |# L& =+ )\ bk w3k 30.0 620 60 0 680  [25%< T 7 H & <30%
206 |# T M+ bR sk 50.0 620 70 0 690  [30%< Tz & <35%
207 |F L& W+ — otk v sk 50.0 620 70 0 690  [30%<Ti iz & <35%
208 | L& W+ — otk v sk 50.0 620 60 0 680  [25%<Ti 7w E<30%
209 | L# W+ = bR w3 50.0 620 0 0 620

210 |4 T2 -+ Yok R s 30.0 620 0 0 620

211 |# & W+ FOB R s 20.0 620 0 0 620
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212 |4 T W+ 7 ob R wss 10.0 620 60 0 680  |25%=<Ti 7 & <30%
213 | L& W+ ob R w s 200.0 620 —90 0 530 [10%< i B <15%
214 | L& -+ )\ LAk v 3k 100.0 620 —100 0 520 |b%<TR I H E<10%
215 |# T & 19+ LR e sk 100.0 620 70 0 690  [30%< T3 & <35%
216 |F T & A+ bk sk 100.0 620 —90 0 530 |10%< T E<15%
217 | T & B+ — R i sk 100.0 620 —90 0 530 |10%<TidpH & <15%
218 |F L& B+ btk w3k 150.0 620 —-110 0 510 |0%< T 37 B & <5%

219 |# % B+ Wbk sk 50.0 620 —-110 0 510 |0%< T 47 & <5%

220 | R & —Hth w3k 9.5 620 70 —60 630  |30%< T3 & <35%
221 | R & = Hotk v 3k 30.0 620 60 0 680  [25%< T M & <30%
222 | R % = Hotk w3k 30.0 620 60 0 680  [25%< T & <30%
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